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Set ld : 47071 77

10Aug18_Batch2_
Section 1 - Paperl-General English

1) Choose the correct answer: I e C h O fW O r I d
The doctor looked for in . °
A) avein, vein

0wty Techofworld.l

D) a vain, vain

2) Choose the correct answer:
The seniors looked

on their juniors and
refused to help them.

A) down
B) upon
C) away
D) at

3) Choose the correct answer:
When he found his dream job, he found

A) sorrow
B) pain
C) bliss
D) fear

4) Choose the correct answer:
He is the heir to the vast property.

A) soul
B) sole
C) soll
D) soll

5) Choose the correct answer:
The children interested in painting.

A)is

B) are
C) was
D) will
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Section 2 - Paperl-Education and General Awareness

Techofworld.In

6) The University Education Commission which

B) granting equality on the basis of gender and caste for
recommended religious education in the colleges all citizens
advocated that all educational institutions start work with C) providing absolute equality of wealth or income for all
a few minutes of citizens
D) providing opportunity for good education and health
A) Surya namaskaras ) ?or all cigzeﬁg y 9
B) Chanting the mantras
C) Silent meditation
D) Namaz 8) 9@ QSRR AFINEQ, AINEHER ARSI ARIAGGE A& 2SeS
@eQ
6) RERE AIRTER A FAI AR YBIQ 69RRI GRS Igeadq A) raa Q913 Q6N 2016 SISEE! JOIR
@0Q] A2 FRIGAIR FIRYS 676e] AR 5T @RSl 96a Sl 5 . .
2108 edel 9aS6a 10 6RR26R ? ) 9918 QIISRT QIR A 6 R ARIAGA AAIKES] d9le
C) ang qIeGieg 86 caI 29 94 ARSI geIR
A) gdy eeia D) Q612 I98eE @ar 381 96° ALY CIs 96aISl 9aIR
B) aa aio R
C) sqlg @ig .
9) What are Tranquilizers?
D) aaie

o A) Drugs that act on digestive system
B) Drugs that act on renal system

7) Which of the following soaps are made by dissolving C) Drugs that act on cardiovascular system

the soap in ethanol and then evaporating the excess

D) Drugs that act on the central nervous system

solvent?

A) Toilet soaps P

B) Medicated soaps 9) SIFRIDES @9 U6T ?

C) Transparent soaps A .

D) Shaving soaps ) Iee gaIRIEa K1Y @Sl AS

{ — B) qa antea qidy @ggel Ay
- o 9 C) 69 2°0IRG gaIR16Q Q1Y 22l A8
7) GRS 669 97 § RRINM 61 IR 9e° Gl J6Q AR .
5 D) eag19 919ea6a @IdY @29l Ga

QNG VA K6l GGG FAULIN ?

A) oERQ AI9R

10) According to the Education Commission (1964-66),
B) @gana el ‘education must serve as a powerful instrument of social,
) economic and cultural transformation, necessary for the
9 A9 realization of
D) safr aige

A) national goals
B) social goals
8) In democratic societies, political equality would C) economic goals
normally include D) personal goals

A) granting equal citizenship to all the members of the
state
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10) GRISALS (€ ¢ 9¥-99) AgAIRN, FVIANIGS, AT6TER 99°
ArYER GeES AI IRHRAIF1 AUGNIER MITIA 629, F67ID
ARG 6966 9Id A AIR

A) QI910 RAY
B) aici@e aay
C) a1gie agy
D) Quage aay

11) Who was the founder of National People's Party
(NPP) ?

A) P A Sangma

B) Sitaram Yechury
C) Naveen Patnaik
D) Mamata Banerjee

11) Queqiq 8gq aIF (1add)e gdalel @4 ?

A) G g Qierel

B) qieiqiq saga
C) a1 agelam
D) aael QIgIeT

12) Which of the following is a initiative of Govt. of India
for showcasing and disseminating all educational e-
resources including textbooks, audio, video, periodicals,
and a variety of other digital resources through website
and mobile app?

A) E-pathasala
B) E-gyan

C) E-saransh
D) E-education

12) GORYE AP 6996 QRS AT IR I 6AAA6R
QI04gaR, PG, §F6, IR 9L° 6E8QQIRT 6 AR 2l
FIRIFIBR AR FEoIN AVRYEe 9F A8 JIAYFS @-
Q2YFRQ 9QdR 6 AR @aIAI?

A) @-a04IR!
B) a-81%

C) q-aarg
D) a-@al

13) National curricular framework, 2005 has drawn
attention to which of the following curricular areas in
addition to language, mathematics, science and social
sciences?

A) work, arts & heritage crafts, health & physical
education, and peace

B) S.U.P.W. & craft education, dance & drama
C) subject teaching, health, arts and literature
D) life skill, arts & literature, dance & drama

13) QI91R TIOIGE 6TAEIR, 9008 QUTI, T80, FRIF G AT
FRIe A6AS FIRYE 699 AI0IGA T6l 9F UIRTa ?

A) @Y, eRI6- 90912289, IYIBHIRRID, 9e°aIE
B

)
) ¥NQ.9.0. 9982887188, FoI6RIER
C) 399381919, 919y, SRIBAIERY

)

D) 912061190, @RI6AITSY, QR48RIR

14) 'Ishan Uday' is a Special Scholarship Scheme
launched by the UGC which envisages grant of 10,000
scholarships to students, whose parental income is below
Rs. 4.5 lakh per annum. To which of the following regions
does this scheme apply?

A) North East Region

B) Jammu and Kashmir Region
C) Union Territories of India

D) North West Region

14) ‘Q4Iq 299’ 96 919l 2% FAARR IR F648 ARAAY
G0 Q19 Q¥ 45 A8 OFIQ @6 2 2] /@S INAIGT
10,000 o7 ANQAC A°gQ @6 | FIRYS 699 28R AR 9F
8.6 99sy a6e ?

A) Qa9 gaIER

B) 5 6 «ig1a

C) @100 sagaide 2se
D) aae afiqugs
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Section 3 - Paperl-Reasoning
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15) Raman is Karthik's son. Rekha's mother's only son is
Raman. How is Rekha related to Karthik's wife?

15) Q7161 62983 IR0 J2 | 6QSIw ¢I'Ta 99918 92 62983
QFIE | GRS IR TS LUNER K€ 6269 7

16) "She goes to school " is coded as "ya ni pa ka" and "
She will come again" is coded as "pa ji na sa". What is the
code for 'She'?

A) ji

B) pa
C) ni
D) na

16) "She goes to school " g "ya ni pa ka" @62 9@° " She
will come again” @ "pa ji na sa" Q6L 6QIQ §B FAUARE,
6962 'She’ § 03 6917 98 QAIDS ?

L
pa
n

i

O o >

)
)
)
)

o
>

a

17) Nikhil and Naman are brothers. Naman is married to
Sneha. How is Naman's mother in law related to Sneha?

A) Mother
B) Mother in law
C) Daughter

D) Aunt

17) 54\ 6 99Q QIS UGS | AAR 692G QT 6RRT | FAFT
416 692@Q AOREQ A 626@ ?

18) What is the missing number in the given series?
118, 120, 124, ?, 138

18) goR GF6Q @ 2SI LT Q6 26T ?
118, 120, 124, ?, 138

19) What is the next number in the given series?
681, 682, 686, 695, ?
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19) ge@ QF16Q QI AHIYFRQ 0@ AHIT @8 62 ?
681, 682, 686, 695, ?

A) 719 -I- IF]
Vi €C
C) 713

D) 711

20) If MOVES is coded as NPWFR, then ZONES will be
coded as

A) APOFP
B) APOFS
C) APOFQ
D) APOFR

20) 98¢ MOVES @ NPWFR @169 691 98 @QIdIa8, 6069
ZONES @ @dQ 6911 928 @Ide

A) APOFP
B) APOFS
C) APOFQ
D) APOFR
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Section 4 - Paperl-Teaching Aptitude
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21) The prenatal factors that affect the growth and
devleopment of a child are the ones that

A) do not affect him

B) influence him before birth
C) influence him during birth
D) influence him after birth

21) 9999 691996% Q1T JAIR K% 8 29RY YIRS @6a
Qg KUQ gRITe el ?

A) 2168 gRIFe Q6Q q1F
B) 93 999 9@Ide @6a
C) 9 AA06Q JRIRS @69
D) ag 060 gRIGe @66

22) The Teacher Education Policy in India has evolved
over time and is based on recommendations contained in
various Reports of Committees/Commissions on

Education. All of the following are the important ones
EXCEPT

A) Chattopadyay Committee

B) Kothari Commission

C) Sarkaria Commission

D) Acharya Ramamurthi Committee

22) QUOSEA AWAGEA € FaQ J9 Q1 Gede semE G Jal
Qa6a TR @fc/efiaes Q6AITER g8l S AUER 1Rl
adieade | G96R 291 6RRESITY QI 6TER ZIa A9 YRUIR
ggQgd ?

A) Q6aIcaIR /TG
B) eqi01a1 @figq

C) cemigal adae

D) aioidy Queqel @46

B) United Education Executive
C) Universe for Education Executive
D) Universal Educational Executive

23) BIRYE FUIQ 6RLE YAR @ QYIS K6 2

A) giaifie d81a ASeR1908
B) arge a1 geae

C) da1 gese AR g1

D) aese1a 591 9eee

24) Ritu after entering her class prepares learning
materials, makes seat assignments, passes homework or

does a brief physical warm up activity. She is using the
technique of

A) Entry routine

B) Seat signals

C) Do now

D) Non verbal intervention

24) 9g 6g41RRQ Y6Rd KRS Q60 FQ4 ANGT 926 Kad, 49
geIe QaE, 6aiA 4T 28 Fq IR /Y JINER AR AT
@OE | 60 MRVIQ AR AVIVT 68A8

A) geed e]

B) dg donin

C) canie @aQ!

D) g9 69lye 22689

25) In order to reach at behaviour modification, the
teacher should

A) check all wrong behaviour

B) not be bothered at all

C) ignore all wrong behaviour

D) encourage the wrong behaviour

23) Which of the following is one of the explanations for
UEE ?

A) Universalization of Elementary Education
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25) 2I9ad 95ees 984, INe @4 @59 5] ?

A) Q02 g ZIGdq S9Ia% /A6
B) 216d1 580 6269 Q1@

C) a9g g 2Iedq 266ad T6a
D) 9@ 2094 IR 2ATE KR6R

26) According to Allport, the main traits that dominate an
individual and shape his behaviour are the

A) primary traits
B) central traits

C) secondary traits
D) cardinal traits

26) 2RGAIGE AGAIN, §68 MBG QRN QYA I IR
2I9Rdg JAd ARSI AFET Q4 266 ?

A) gieidiie aed
B) sag aa4
C) 6dl6l a8
D) 6915a a9

27) National Open School ( NOS) is now known as

A) NIOS
B) NCERT
C) NOIS
D) UGC

27) NIQRIR BA] YR (NABYIQ) 689 FIF6Q 9REe ?

A) 9g2IR69q
B) wadazied
C) wq6zIeag
D) g@d

WtsApp/Call- 8596976190

28) The functionalist education theory focuses on

A) the ways that universal education serves the needs of
society.

B) maintaining social inequality and preserving the
power of those who dominate society.

C) the curriculum that helps students develop their
identities and self-esteem.

D) restricting knowledge, skills, and values from passing
on to the next generation.

28) @dugea sl 3Is QIg AT64 JRQ 6aqaa ?

A) QISeQIe 881 AR ZINEHeRI] ARG aIee gd @dald
B) aqide 2aqinel @ Afie QU6 geQ QgRel ISAI9Ea
Saq 910 YS!

C) Q04e1ael QIl YIGRIFINIGG 6ACI0FA OG0 G 2lIF] A
QRIARNEH ARIAR T4

D) ®mia, @86! 8 FRIERIG 968Eq 6011 AUER KR4I RS

29) Which of the following agencies is the first agency of
education for learner?

A) Peer group
B) School
C) Family
D) Society

29) FIRYE FrIQ 6866 RIS QIR 9aA J8I Qg ?

30) Which of the following is NOT an aim of education?

A) Clerical aim of education
B) Bread and Butter aim of education

)

)
C) Survival of the fittest aim of education
D) Vocational proficiency aim of education
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30) SORYE AIQ 624G VA AEREY Q6% ?

A) SR1Q TR QRN

B) §gIQ 9180 QUISR A8y

C) G919 6K QAN AEREN
D) GQ1Q dQINRe 9916161 R
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Section 5 - Paperll-Odia Language

WellaQ Ry @RI QElkaid ? TeCh OfWO rl d

A) 696 0@ FRUAQ a8 F26a R0 ealaid
B) 60 QIQUER ANIAR AR B AN

C) 6Q€0 QIRUER AYS A TRISR| 21

D) 69¢ 9g0 289 anaca wrig ealaid

32) AQKRINQA’R ARIRIA @A 2

33) ‘AuNE’ A9 FAQ10 ATCIIQ AR CRS|

A) aNA

B) a@n4
C) aen
D) a8

34) ‘49QIa’ aea Faaie a1e cad |

A) de

)
B) Gwia

C) @19QIa
D) RRQIA
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5 F6e)Ie 950 ae AUQ QUG AAIRIRIR ae6aILa Ade Qq aa ?

- Techofworld.In

D) Fagal

36) ‘6 Fqa1 BT 1 @1 6 909 ?

37) ‘Qg’ 40 6W 090 AL ?

A) R8I0
B) TRIQIGR
C) QERIee Feauy
D) 98w

o £OR 9 0IRIQ 9RO @ 9OUAN0 22g ULl FRE YQ KON 22 ALK Q6Q1 6AF GeQ @4 QRIAN ?

A) 6QI9Q¢ 69
B) @Ce 4w
C) exlde ae

D) Qf ae

39) ‘ofrRia’ coE a26q 0F0 99 cRINE ?

A) SaId
B) Qa26Q
C) Qa9
D) akaay
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40) ‘aIR19’ QY aRIR 99 ?

41) ‘BeRIN’ 900 §A010 ¢ cawl

A) 6RI81
B) 699
C) 6918
D) 69181

42) 18 9240 QETIR QIR @4 QI ?

A) @RI9
B) @l
C) #1998
D) A&

- ‘Gole AR’ 22AQ EIATQ Q&G @’a?

A) 21091541

B) QEIQcl @GRl
C) Qceel

D) g&Idel

44) VIR 9C1 6202111 60%ITE BAE 60U GaI?

A) 2IRFIRS QEAIR
B) Qaioy QIR
C) #0UQQ9 QEaIR

D) 298] QAR
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45 WG QERIFe QR ?

A) Qg RKPAQ|
B) €6CQ €29

C) @@ ad Y&l
D) Q¢ @IGQ
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Section 6 - Paperll-Mathematics
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48) If ax2 + bx + ¢ = 0 has equal roots then the value of 'c’
is

A) bl(4a)
B) 4al/b?
C) b/(2a)
D) b2/4a

46) 9@ ax® + bx + ¢ = 0 @ A1 IR Q@ 6369 'C’ A MY 66T

A) b/(4a)
B) 4a/b?
C) b/(2a)
D) b?/4a

47) If the HCF of 65 and 117, expressed as 65m + 117n
(where m and n are integers), what is the value of n?

)
)

O W x>

2
1
) -1
) -2

=)

47) Q@ 65 ¥&° 117@ €.Qlg, 65m + 117n @I} R

QAIARE (69R0 M 99° n 6288 gE9e), 6369 n G AN
660 ?

48) Let A = {4"-3n-1, neN} and B={9n-9, neN}, then AUB
is

@ >
S >

gonx

=

Join Us-

48) §QIAIG A = {4"-3n-1, NneN} 6 B={9n-9, neN}, 606
AUB 6298

49) The amount of Rs. 40000 for two years at the interest
rate of 8% per annum becomes

A) Rs. 46500
B) Rs. 46600
C) Rs. 46656
D) Rs. 46560

49) 40000 6@ 9@ @8 U6 QTR 8% QI AN 6R6C O
629 ?

A) Rs, 46500

)

B) Rs. 46600
C) Rs. 46656
D) Rs. 46560

50) If x2 + k(4x + k - 1) + 2 = 0 has equal roots then value
of 'k'is

50) 9@ x2 + k(dx + k - 1) + 2 = 0 Q QA €] Q&R 6962 'k' @
R 6960

A) 2/3
) -2/3
C)3
)1
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Parr b e e mmaat ot e et mm e wmran

51) What is the compound ratio of (a+x):(a-x), (a2+

x2):(a+x)? and (a2 - x2 )2:( a* - x*)?

A) (a+x):(a-x)
B) 1:(a-x?)
C) 11

D) 1:2

51) (at+x):(a-x), (a2+ x&):(a+x)? 9Q° (a? - x2 )%( a* - x* )@
Q6ATE AQUIR 6@6S ?

A) (a+x):(a-x)
B) 1.(a%-x?)
C) 11

D) 12

52) The square root of 4 - 4c + 2b + c2- bc + b2/4 is

A)bl2-c+2
B)b+c-2
C)b2+c-2
D)b-c+2

52) 4 - 4c + 2b + ¢ bc + b¥/4 Q @GR 6967

A)b/2-c+2
Blb+c-2
C)b/2+c-2
Dib-c+2

53) When two circles touch each other externally, how
many common tangents can be drawn to the circles?

A) 1
B) 2
C)3
D) 4

53) 6J6GERER A 98 0A2Qg VY Q6T 2T @9E8,9R6R
6R6RIT ARG FUEAS 2IES 689 ?

A1l
B) 2
C)3
D)4

54) Four angles of a quadrilateral are (x + 50), (3x - 30),
(x/2 + 70) and (2x + 10). What is the type of the
quadrilateral necessarily?

A) Rectangle
B) Kite

C) Trapezoid
D) Rhombus

54) 099ea QI6C 6a18 6298 (x + 50), (3x - 30), (x/2 + 70)
98° (2x + 10). 9999 gRIRYS Gl @ad 26e ?

A) 2190688
B) 9

C) cidea)
D) aqq

55) If TP and TQ are two tangents to a circle with centre
O, so that angle POQ = 110 degree, then angle PTQ is
equal to

A) 60°

B) 70°

C) 80°

D) 90°

55) 9@ O 6@9 891 9@ 98 98 TP ¥e° TQ 9@F 296as! 263,
6920 6216 POQ = 110 &g, 606% 6@16l PTQ @12l a86 Qa1e
699

A) 60°
B) 70°
C) 80°
D) 90°
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56) The listed price of a shirt is Rs. 270 and it is available

at Rs. 237.6. The rate of discount is

A) 12%
B) 13%
C) 1%

A) AUB
B) ANB
C) ANB'
D) ANB

> Techofworld.In

56) 6615\ QTR SINNIYS Y 270 GF 9e° 921 237.6 FFIER
(g8 1 6969 Q2GA 210 696 ?

A) 12%
B) 13%
C) 11%
D) 14%

57) The LCM of 90 and 144 is

A) 360
B) 54
C) 18
D) 720

57) 90 e 144 Q M.41.9 6262

A) 360
B) 54
C)1s
D) 720

58) Let A and B are two sets. If ' denotes complement of
aset, thenA-Bis

A) AUB
B) ANB
C) ANB'
D) ANB

58) F168 @@ A \I9° B 6208 9AF 699. U¢ ' o 649 @ 99
@EQ GITEM A - B 6208

59) The number of trailing zeros in the square of 200 is

A) 3
B) 2
C) 4
D)6

59) 200 @ QHITRER 6968 AHIR g9 ATF

A) 3
B) 2
C)a
D) 6

60) The ratio of the prices of a sunglass and a watch is
12:25. Three years later, when the price of the sunglass
rises by 20% and that of watch by Rs. 458.80, the ratio of

their prices becomes 4:9. The original price of the watch
is

A) Rs. 520
B) Rs. 744
C) Rs. 1550
D) Rs. 296

60) Y@ 99gIq ¥e° A%Q Rya AQAIe 62a8 12:25. 68 Qd
J6Q, 6UELERER ARGIAR MY 20% Q& 62RI 99 €ACEEIER
aga gmy 458.80 G@Ig 9F, Q1A ANIGYFIR 23U 4.9 62w
1 6669 QEQ Qe NI 6760

A) Rs. 520
B) Rs. 744
C) Rs. 1550
D) Rs. 296



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World A WtsApp/Call- 8596976190

Join Us-

Section 7 - Paperll-Social Science

Techofworld.In

61) Which Article of the Indian Constitution enumerates

the Fundamental Right, 'Protection of life and personal
liberty'?

A) Article 21
B) Article 19
C) Article 23
D) Article 17

61) QUABIE QAR 63E Al , "F1GE G2 TES UGS "
QAR AR 2RI TAVER AERY @6Q ?

A) aiql 21
B) aien 19
C) uiqu 23
D) aiqu 17

62) Who among the following is considered the 24th Jain
Tirthankara?

A) Vardhaman Mahavira
B) Gautam Buddha

C) Parasnath

D) Ashoka

62) FeLld G @9 ©F4I07 6TR-91ITR 621R URTE ?

A) Qaqie AR
B) sdlon 9@

C) algagiel

D) asaie

63) The temperature at which the air gets saturated is
called:

A) Cooling point
B) Melting point

C) Freezing point
D) Dew point

63) 60Q VIAILIER Qg "9RYY" 99, 91D ..

A) gleqis
B) gqaim
C) @aiw

D) d&iaum

64) Why is terrace farming practised mostly in hilly areas?

A) To promote reforestation
B) To control overgrazing
C) To prevent deforestation
D) To prevent soil erosion

64) QI916 2ER6R 6QIAIR §8 FITH ZYROR FAIAI ?

A) 2199410 6912128 IR

B) cloagfiq foadsa ageiq
C) coara Q18 61aIg

D) eiel 8 6aIdal AR

65) Under which Constitutional Amendment, 'Right to
Property' was removed from the list of Fundamental
Rights of India?

A) 30th Constitutional Amendment
B) 44th Constitutional Amendment
C) 52nd Constitutional Amendment
D) 49th Constitutional Amendment

65) 69 AFURS AESRIG FAI "ANER 2FQ" § , 61AR
R FRRIQ A FEUAR ?

A) 30 o6 QRXIGS RIS
B) 44 90 QFIRR Qe6dlIR
C) 52 69 ARUFR AEIRIF
D) 49 o9 afufe Qe6die
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66) Compressional waves are a type of seismic waves
also known as:

A) P wave

B) S wave

C) Rayleigh waves
D) Love waves

66) AERICR GG , IR IR QRAFHS A , AIFIQ A QI
S7I

A) 3 6aQ

B) «q 64

C) araemeaa

D) ausen

67) Who among the following was the first President of the
All-India Trade Union Congress in 19207

A) Lala Hardayal

B) Lala Lajpat Rai

C) Sardar Vallabhai Patel
D) Jawaharlal Nehru

67) Q69 FA-Q @4 1920 AdRIER AR AN AF9Q 4°A9
ARG a6m ?

A) QR eaesin

B) Qial Queag que

C) Q€iq aRe IR 9699,
D) goIganin 6629

68) Which of the following options is regarded as the apex
body in a three-tier Panchayati Raj System in India?

A) Zila Parishad
B) Block Samiti
C) Panchayat Samiti
D) Gram Panchayat

68) NAGER TSR A°IAGAUT YSAI6Q FARYS 690G 2641
QI WUES TGS 6LIRaUg ?

A) GRI 9B8Q
B) g@ afi@

C) aroi0e Afd
D) gie1 arqiae

69) According to Continental Drift Theory, all of the earth’s

continents had once existed as a single land mass known
as.

A) Laurasia

B) Gondwana
C) Panthalassa
D) Pangaea

69) AICINA-0RR 0Q AGALTR , YILIR ANG A1RICR4E, NG
60IITN QUG NIES gl , AR QIEY -

A) aaaidal
B) calg @il
C) amqual
D) aigra

70) What is the meaning of coalition government?
A) The government formed by the members of the Rajya
Sabha only

B) The government formed by the opposition party

C) The government formed by the party which is in
majority

D) The government jointly formed by more than one
political party

70) f0Q QORI @T6R Q'€ QRIN ?

A) 6397 QIR AR ALQY AIRE FIAI ARRIS FOF
B) Gea1 @@ 9191 AQRIQ G0

C) Qs 98961 219 @RS @R T AN FOF
D) 1eQ 2@ QIF 6569 OF 910l QRIS S108
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71) Which among the following types of coal is considered

_ / i 73) Q188 A0 FIAYS 676 PA 6361 NG AIRS AFK
to the best quality of coal with 85 to 90 percent of carbon? 6o Q162 928 FASE, JIYl ARV Tee ﬁéaqa —
A) Lignite QAIQE ?

B) Bituminous ~ )
C) Anthracite A) 425 @g1 g%
D) Peat B) 97589199
C) 825 @g1 9@

71) 85 @ 90 996 IR QI FARYS G 6aY 6gaIa D) 68.5 @91 99

6RIRRIg A6IIEE 691N TRGEE QUAN?

& 74) Who among the following writers was a French
A
) PRI Novelist who wrote about Gandhiji?
B) quafieq
C) argaeg A) Charlgs Equelle
= B) Romain Rolland
D) ag

C) Jean-Jacques Rousseau
D) Leo Tolstoy

72) The Shore temple at Mahabalipuram recognized and % ) 4
listed amongst the World Heritage Sites by UNESCO was SE o a
built during the reign of which dynasty? 74) QNS 629 EAYRT AJIQ A REE FAIDT QUYIARIRQ 6w

AR GIR1FIE AARER ERYZEM ?

A) Cheras
B) Pandyas A) QIR APIER
C) Cholas B) 6qi6q1q 61917,
D) Pallavas ~
C) §q-9199 @63l
D) @6 cag

72) AQISRIGRIEE 96 Fha ARl YERl QI 9 @RAIF 689

QU6Q F01 UIRE 6 SIRIRS 621T, I 6aQ ALIFY ANAER

A6 QAUAIRER ? 75) Which of the following are the imaginary lines that run

between North and South poles?

A) goal A) Longitudes
B) aigy B) Latitudes
C) coim C) Tropics
D) Tropicals
D) age P
75) @@Q 6019 99° QB4 6719 F1IEQ Q6D 6R4l QIaRe casl
73) The Indian Government has accepted which of the Ba aQeld 2
following meridians as the Indian Standard Time Meridian ¢ '
that passes through the town of Mirzapur near Allahabad?
A) qide
A) 42.5 degree East B) aiqyrs
B) 97.5 degree East .
C) 82.5 degree East C)as
D) 68.5 degree East D) g1y faq
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76) Which of the following is used in hospitals for setting
fractured bones?

A) Sodium hydrogen carbonate
B) Calcium oxide

C) Calcium oxychloride

D) Calcium sulphate hemihydrate

76) F6AI8 FRIQ 6T CRCINER GEN 219 6AITAIG NI
62192l ?

A) 6QGRIF ARCRIEER FISTICRT
B) quadad 29199

C) Quadan 2 6URQ

D) @undae d6eng 627 2106eq

77) The normal boiling point of water is 100°C (373 K).
What is its standard boiling point?

A) 96.6°C (369.6K)
B) 99.6°C (372.6K)
C) 98.6°C (371.6K)
D) 97.6°C (370.6K)

77) 92 AdRIQE §eaiw 100°C (373 K) 1NM2IQ AI9e §oale
6@6e 7

A) 96.6°C (369.6K)
B) 99.6°C (372.6K)
C) 98.6°C (371.6K)
D) 97.6°C (370.6K)

78) Who among the following scientists discovered the
antiseptic method, in which a germ-killing substance is
applied to wounds during an operation?

A) Alexander Fleming
B) Joseph Lister

C) Edward Jenner

D) Louis Pasteur

In

78) Q6Q Q2 QIR g9 ETRITAT AR BT FIIG TR AR
2SR FYEM , 6INYER ACIITTIR A6 DO6R F1RNE AR
QI QIR FAUAN?

A) \ 26MERRRX LR
B) salear aq

C) 9eaIe 69699

D) paq gL

79) Rhizobia bacteria in Plants helps in

A) photosynthesis
B) protection

C) nitrogen fixation
D) transpiration

79) QRGEQ QI ARERITL Q11§ GQﬁQG@ ALY @6

A) 2lenia 646
B) gqasl

C) acmiasia Gaae
D) asgae

80) During winters, rubbing of hands together generates
slight heat this is due to force of

A) motion
B) friction
C) velocity
D) momentum

80) 416 A96Q , AIAQ ALE 68 ARG GIU FIG §4, 92 Q
FIE 62a

A) o
B) aga
C) sagl

D) areqq
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81) Which of the following statements is INCORRECT

regarding chromosome?
A) acrocentric chromosome have no centromere present
on it

B) sub-metacentric chromosome have centromere
slightly away from the centre

C) centromere is placed at the end of one arm in the
telocentric chromosome

D) centromere is exactly middle in the metacentric
chromosome

81) 65167116q17 FA6A ¢ AYS QB FRIER 6RLE m 26g ?

A) 21651 634K 6FISFIERIF © 66 FQ @ 2

B) aq 67151628R 6516716917 @ 6368 F1Q 69K 0IQ AIFIRY
QR6Q QTN

C) 6c6n1624 621691168161 Q 69115~ QISR 6968l F4q 9GS
621921

D) 65101698R 6RI6AIERI @ A 9R6Q 6A68l ANQ AT
62I@elN

82) Which of the following process is used for the
production washing soda?

A) Solvay process
B) Dow process

C) Raschig process
D) Haber Process

82) G619 694 Yael ROl 2 6@ GFIEER 1age g4 ?

A) saieq 9Gal
B) @16 g&@<i

C) auidg gl
D) qieaq 9@

83) The work done on a object is independent of

A) angle between force and displacement
B) displacement

C) intial velocity of the object

D) force applied

83) @ @g QJ6Q 9V =llal JIRIOIR RIS 26T, QIR 6L

A) @@ 9° SQIAR N 6RIQ
B) Gaiae

C) ega gIadie adieasl

D) geaigge e

84) Which of the following carbohydrates are found in the
primary cell wall of plants?

A) Lignin
B) Pectin
C) Starch
D) Chitin

84) QEQQ UIOAR 6RI8 Q 200 SR FIEA 6RY QICSIZINCET
aARGe?

>

REQ
60QQ
A/ 6

W

C

)
) 6@
) 690Ia
)

o
d.))

85) A pair of yak exerts a force of 180N on its cart.

Calculate the work done to carry the cart towards its
destination 20m ahead.

A) 4200J
B) 2400J
C) 1800J
D) 3600J

85) 267 9¢1Q1 QIR GITRUER 180N Qf gerlid @9 | 20m

996Q Zal ARIERY @8 AT GI18 raIg 2IRdiala KIdiQ
AT A1 @R |

A) 4200J
B) 2400J
C) 1800J
D) 3600
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86) Which of the following disease is caused by
plasmodium parasites. The parasites that are spread to

the people through the bites of infected Anopheles
Mosquitoes?

A) Cholera
B) Filariasis
C) Malaria

D) Trichinosis

86) BIRYS 6aa 6QI9 YREAIGAAN A0F11 FIaI 97 6RIRaIN ?

Qgfie MEQITNY A4l QTS FIR YAFINIYER ERATOIER
QyIideg ?

A) 203

B) qlog9
C) quiedal
D) ageqia

87) What is hydrogen bonding?

A) weak interaction between a hydrogen atom and
another electronegative atom

B) strong interaction between a hydrogen atom and
another electronegative atom

C) weak interaction between a hydrogen atom and
another electropositive atom

D) strong interaction between a hydrogen atom and
another electropositive atom

87) 2196216a] 4 (AQ 917 2ISR) K€ 266 ?

A) 92 FI9 999Ig 6 AYQ QIR AAAIG FIER QP 2LF
B) @q @Ie aadI¢] 6 894Q IR TANIG IR 9L 2B
C) @ 9If 9as1¢ 6 IQIQ AURIAR TAFIE AUER QoR LS
D) @g @I a4 6 IgI- URINR DAY AUER G2 2T

88) What is hilum which is present as a scar on the seed
coat?

A) through which developing seeds were attached to the
leaf

B) through which developing seeds were attached to the
root

WtsApp/Call- 8596976190

C) through which developing seeds were attached to the
stem

D) through which developing seeds were attached to the
fruit

88) F18iQ QUQ Z°F69 IR OF 29I "Emel" @4 265 ?

A) aigl 919l 380 629291 A& 98 92 ARG 621R2
B) aigl g0l §@8c 62999l A8 R A2 A°AS 62198
C) gl 9101 328c 6229l A8 QI8 AL ARG 621R2I
D) g qio1 3a8ic 62@a9l A& TP A2 A°RE 62IRAIM

89) Dipole-induced dipole forces operate between

A) the non-polar molecules that have temporary dipoles

B) the polar molecules having permanent dipole and the
molecules lacking permanent dipole

C) the non-polar molecules that do not exhibit dipoles

D) the polar molecules having temporary dipole and the
molecules lacking permanent dipole

89) RS 98 §-491A IR AP FRIEA FIY FAAN BILI 62 :

A) 23919 2¢) AR AYIX § Y A1

B) ye1a &g, Q121 A1 § < M 9Q° 2, FITIQ @ QI F@
@ arg

C) 212910 21 AT § & Q6N AT

D) ya1a 2¢ 91219 Q1 § 9 2N 99 2¢), A @ QI
Fe @ arg

90) When sepals or petals in a whorl just touch one
another at the margin without overlapping, it is known as

A) vexillary aestivation
B) valvate aestivation
C) twisted aestivation
D) imbricate aestivation
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90) 6K606Q6R 6ACIM / CIYS! , 60ITR RUEA 6TIT 2RIGAE
@ RQ , JQAQ AIF 6Q 9 [AB, FITNG FLAIAIN :

>

) 6RERIR 1F6RCR
) QUeRE 186@Q]

) 368 1F6QQAR

) QRERY] 1F6RAR

O W

D
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Question Paper No: | 47071_77

Answer Key
1. B 31.D 61. A
2. A 32.B 62 A
3. C 33.B 63.D
4, B 34.C 64.D
2 B 35 D 658
6. C 36.B 66. A
. U9 G 9t.B
8. A 38.D 68.A
9. D 39.C 69.D
10.A 40.A 70.D
11.A 41.D 71.C
12.A 42.D 72.D
13.A 43.A 73.C
14.A 44.B 74.B
15.C 45.C 75. A
16.B 46.D 76.D
17.A 47.C 77.B
18.C 48.A 78.B
19.D 49.C 79.C
20:0 50.A 80:B
21.B 51.C 81. A
22.C 52. A 82. A
23.A 53.C 83.C
24. A 54 A 84.B
25.A 55.B 85.D
26.D 56.A 86.C
27.A 57.D B7.B
28.A 58.C 88.D
29.C 59.C 89.B
30.C 60.C 90.B
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